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CBA Practice paper model answers 

Basic Accounting I (BAI) 
Practice assessment 2
Section 1
Task 1.1

[image: image2.png](a) What will be the entries in the sales ledger?

Sales ledger

Amount

Account name 5

[BGH Lt

[Stocktey & Co

IRCTumer

[Knowie pic

(b) What will be the entries in the general ledger?
General ledger
Account name

[Sales ledger control





Task 1.2

[image: image3.png](a) What will be the entries in the purchases ledger?

Purchases ledger

Amount

Account name %

Debit

[Edwards pic

[F Williams.

(b) What will be the entries in the general ledger?

General ledger

Amount
£

-BER

Account name Debit

[Purchases ledger conrol

[Purchases retums

VAT





Task 1.3

[image: image4.png](a) What will be the TWO entries in the sales ledger?

Sales ledger

Amount

5 Debit  Credit

Account name

(b) What wil be the FIVE entries in the general ledger?

General ledger

Amount
£

Account name Debit  Credit

IDiscounts allowed ] 50

[Drawings

[Motor venicie expenses

[Sales eager control

[Sales eager control





Task 1.4

[image: image5.png]What will be the FIVE entries in the general ledger?

General ledger

Amount

Account name 5

Debit  Credit

vaT

[Office expenses

[Travel expenses

[Other operating costs

[Petty cash control





Task 1.5

[image: image6.png]Rent and rates

»l2an |ank 470 26 Jun _[Bank 48[4
»[18Jun_ [Bank 1215[30 Jun "= [Balance did 1630[4
> [Total 1685 [Total 1685]4
DI [Balance bid 1639 4
Wages

b8 [ank 636[30 Jun "~ |Balance cid 2074]4
p[ 160 [Bank 747 4
»[240un_ [Bank 691 4
> [Total 2074 [Total 2074]4
DI [Balance bid 2074 <





Task 1.6

[image: image7.png]|Administration expenses 2340 2340
[Bank charges 136 136
[Bank overdraft ,985) 1985
[Capital 37,000 37000)
[Cashinhana 454 454
[Commission received 200) 200)
[Discounts allowed o84 084
[Discounts received .195) 119
[Etectriciy ,640) 1640
[General expenses 23890 2890
lInsurance 762] 762
[imecoverable aebts 210) 270
[Wachinery 12,650) 12650
[Motor vehicles 18,900) 18900
[Motor venicle expenses 530) 530
[Purchases 27,689 27689
[Purchases ledger control 13,965] 13965
[Purchases retuns 1,540) 1540
[Rentand rates 2519 2519
[Bales 45,760 45760)
[Sales ledger control 19,650) 19650
[Gales retums .490) 1490
[VAT owing from HM Revenue & Customs .870) 1870
[Wages 5873 6873
[Totals 101647} 101647)





Section 2

Task 2.1

[image: image8.png]Purchases day-book

Inve

e Total

VAT

Net

ProductAB _Product JK

e number £ £ £ £ £
130 Jun [T Moxon 1032] 4320 720 3600 3600
130 Jun lLyte pic X211 1440 240 1200 750 450
130 Jun |1 Traders 239 624 104 520 300 220





Task 2.2

[image: image9.png]{a) Check the credit note against both the purchase order and the goods received note and complete the
following sentences.

e productcode s anown ontne credit note 25 847
e temprceis shown onthe crditnte 2 £1.20

e rate o race dscountis comecty @] shown onthecreditote a5 4%

(b) What should have been the total amount of the credit note including VAT?

= [8336





Task 2.3

[image: image10.png]Codes. Descriptions

A code usedto identy the
General ledger code lorganisation from which the goods
‘were purchased

Acode usedto identiy the type of

‘Supplier account code ‘goods purchased

A code usedto identify the account
Product code in which the purchase of the goods
will be recorded





Task 2.4

[image: image11.png](a) Calculate the balance on the supplier's account in Gold Ltd's purchases ledger and reconcile this with
the balance showing on the supplier's statement of account.

[Balance on supplier' statement of account 2801
|Balance on supplier's accountin purchases ledger 1875
IDifference a6

(b) Which item on the suppliers statement of account has not yet been entered in the supplier’s account
in Gold Ltd's purchases ledger?

|cheque for £600

lInvoice numper 760

|Creditnote number 121

lInvoice number 801

lInvoice numper 852





Task 2.5

[image: image12.png]Remittance advice
To: Freeman Lta

From: Gola Ltg

[Payment method: Date of payment: [24 July 20xX |4

Tick f included in

payment
l22 June Invoice 376 650)
los Juty Creditnote 28| 119
[12 July Invoice 421 544
118 July Invoice 488 035]
Total amount paid| £ 1075





Task 2.6

[image: image13.png]‘CREDIT NOTE

GoldLtg

14 High Street, Darton, DF11 4GX.
VAT Registration No. 208 3827 04

To: Jack Martin Creditnote number. 267
20 The Hill Date: 22 July 204¢
Highford
Warwickshire Customer account code:MAR22
WKT 585
B
[20 | units of procuct code [Bga7 | * 2.60] each 104]
Trade discount 52
Net £
VAT @ 20% 19.76
Total 11855

Reason for retum: Faulty goods supplied on invoice number 876





Task 2.6 continued
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Task 2.7

[image: image15.png]'STATEMENT OF ACCOUNT

GoldLtg
14 High Street, Darton, DF114GX.

To: Kay Clark Date: 31 July 204¢

o1 Juy Opening balance 865
Jog Juy nvoice 1674 -£790 1655
17 2uy Credi note 367- 2440 1215
l23 Juy Gheque -£500 715
lo8 Juy Invoice 1685 -£1,198 1913






Task 2.8
[image: image16.png]Action taken stomer

Customer did not pay within the specified time but til took the discount

Customer did not pay within the specified time and did not take the discount. CarrollLtd

Customer paid within the specified time and calculated the discount correcty

Customer paid within the specified time but calculated the discount incorrectly. Briggs plc





Task 2.9

[image: image17.png](a) Link each payment below to the appropriate form of expenditure by clicking on the left hand box and
then on the appropriate right hand box. You can remove a line by clicking on it.
Payments Expenditure

‘A payment of £1,200 to redecorate.
the offices

Capital expendiure.

Apayment of £20 for a new door
lock

Apayment of £6,500 for new office.
funiture

Revenue expenditure.

Aregular payment of £2,800 for
wages

Income received can be classified as revenue income or capital income.

(b) Complete the following sentences.

Aretundofatespads cassifed a5 income
Income o th sale ofold affcs umiure s iassied 25 income





Task 2.10

[image: image18.png](a) Classify each of the accounts below by clicking on the left hand box and then on the appropriate right
‘hand box. You can remove aline by clicking on it.

Accounts Classification

Purchases ledger control

Assets

Machinery

Liabiliies

Bank savings

Gold Ltd has bought a motor vehicle, paying by cheque.

(b) Complete the sentence below to show how this transaction will affect the assets of Gold Ltd.

The assetafmotovenice wil [rrssss ] nc the assetof sanicwit
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